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	Answer:

	
  

   coefficient of proportionality: 

	
	

	Explanation:
	· From part ‘a’,


· 
Take above approximation upto one term to find proportionality for small.



     
· 
That implies 
· 

And coefficient of proportionality, which is coefficient of is 
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	Checkpoints

	1. Answer addresses all question components in a question.
	☐

	2. Answer and Explanation should not be redundant.
	☐

	3. Check that all statements/calculations (line by line) are true in Answer and Explanation.
	☐

	4. Do not use any phrase or test directly from the book.
	☐

	5. Avoid writing text (word or phrase) from question statement in solution.
	☐

	6. Paraphrasing in which only a few words of the sentence are changed is not allowed
	☐

	7. Do not copy or reproduce image, graph, table or table headings from the textbook/question.
	☐
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51. The Michelson-Morley experiment, which contributed
to the formulation of the theory of relativity, involved
the difference between the two times 7, and ¢, that light
took to travel between two points. If v is velocity; /,, [,,
and ¢ are constants; and v < c, then f; and #, are given
by

L2 2
' el - v2/e?) eV/1=2/c
2, 2,

L= =

iowje  cd-efey

(b) Forsmall v, to what power of v is Ar proportional?
‘What is the constant of proportionality?




image2.wmf
2

tv

Dµ


oleObject1.bin

image3.wmf
(

)

21

3

ll

c

+

æö

ç÷

èø


oleObject2.bin

